Date: Namel:
Sheet 11: 2, 5, 10, 3,4, 9,6, 7, 8, 12, 11 x table
X B X +
5x7= 9x7= 60 + 12 =
12x4 = 1x12= 33+11=
9x8= 12Xx3= 24 +12 =
7x12= 12x6 = 121 +11 =
12x6 = 6x12= 84 +12 =
3x12= 11 x12 = | 11+11=
5x9= | 4x12= 12+ 12 =
8x4= 7x8= 24 + 4 =
1x11= 7x11= 72+12 =
10x9= 6x9= - 1 36+12=
12x0= 12 x 10 = 64 +8 =
7Tx7T= O0x8= 27 + 3=
5x12= 2x12= 14+7 =
8x6= 8x11= 27 +9 =
. 6x8= 12x9= 48 + 4 =
7x9= 1x12= 36+6=
9x11 = 7Tx9= 56+ 8=
9x5= 4x3= 110+11 =
10x9= 8x1= 49 =7 = B
12X 6 = 9x9= | 8+8=

o You had a good go, try again next time.
Next step — know 57 or more out of 60 (2 mins a column)

SCOI‘e: o You had a good go, try again next time.

Next step — know 57 or more out of 60 (1 min a column)

/6 0 ] 'c  Well done move on to Quiz 1.
Next step — Answering questions




